HENEREREHES

SHMS5FE3H2H (K)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 & Z B fm &

BEERXFE 908 =X 146.8 2,939 100
RXAIH LA 291.4 1,100 249

JUH LA 293.1 1,000 100

LEHLA 410.8 500 101

<AOLA 116.2 669 350

XA LA 313.1 414 89

HNSAHLA 36.5 26 21

F+77>39 99.9 531 100

HFHS 260.5 50 24

>0OX/)VUl 199.3 1,303 369

JdEHAN 84.8 180 20

ESWYXHZ 67.6 659 201

13 AHITSSITA 1,462.7 1,435 849

$89n 8% X X)L 31.0 1,270 720
>0OX/)VUlL 234.1 1,400 300

T2

4,047.8




[;Efa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
EEXFE 90E |ESX 1,225.7 3,300 800
ASHLA 57.2 700 400
<3aHLA 85.8 300 200
F7>37 321.7 400 200
®o 19% ESX 176.4 3,500 700
CHE 1,866.8




